[mean P, [GeV]

Ratio to ATLAS

13000 GeV pp Undgrlying Event

T T T T 1%,

3 o

Average p, Vs N, (Il < 2.5, p.>05GeV,p >1 GeV) >

B =

| m ATLAS s

| -~ Pythia 6.428 355 s

25— & Pythia 6.428 356 —3

~ —A— Pythia 6.428 370 mbe

B Pythia 6.428 379 1E

B Pythia 6.428 ambtl 1~
2 |— ——— Pythia 6.428 z2 _

B 1

™

— —

(40

<

o

™

—i

X

S,

e

(@)

=

[¢D)

Q

[%2]

o

o

(&)

=

2 B =2
1 [ et e e = e i

05 —0.5
1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1

N, (Towards)



	Contents
	Page 1


